

Measurement Book

Schedule XLV-Form No. 134

DIVISION

SUB-DIVISION

GRANGE
SUB-DIVISION

PH-2245

Name of person - Refused

~~www.oldandbom~~

Log 7 to engine hole

black - banana

Block 1
Agency is Deformated

Perros en 1911

1960-1961

1. ~~PN-1946-7035~~

1946-1947

ANSWER

52
 129.00 m²
 129.00 m² x 1.5
 = 193.50 m²
 129.00 m² x 2.5 m = 322.50 m³

B1 P.v. 144 P. 8 Fix 1/2
 82 mm (1/3) 15 mm 2/3
 Bamboo runner 2/3
 Position at every
 Vertical piles

4 NO x 7.0 m = 28 m
 3 NO x 3.0 m = 9 m
 4 NO x 12.4 m = 49.6 m
 4 NO x 10.8 m = 43.2 m
 3 NO x 21.6 m = 64.8 m²
 3 NO x 10.8 m = 32.4 m
 3 NO x 45.2 m = 135.6 m
 4 NO x 6.6 m = 26.4 m
 3 NO x 13.2 m = 39.6 m
 3 NO x 9.9 m = 148.2 m
 2 NO x 6.15 m = 12.3 m
 4 NO x 8.7 m = 34.8 m
 4 NO x 20.0 m = 80 m
 3 NO x 7.5 m = 22.5 m
 4 NO x 6.9 m = 27.6 m
 Total = 752.0 m

Continuation

Area of the room		Perimeter	Cost of painting
10.5m	(1.8+3)	10.8m	10.8m ²
7m	(1.8+3)	10.8m	10.8m ²
2x2.4m	(3.5+2.9)	10.8m	10.8m ²
1x10.5m	(1.25+2.8)	10.8m	10.8m ²
2.2	(1.2+2.8)	10.8m	10.8m ²
1x10.2m	(1.2+2.7)	10.8m	10.8m ²
1x9.5m	(1.1+2.95)	10.8m	10.8m ²
1x7.1m	(1+2)	10.8m	10.8m ²
3x1x6m	(1+1.5)	10.8m	10.8m ²
1x6.8m	(1.20+3)	10.8m	10.8m ²
1x6.8m	(1.20+2.5)	10.8m	10.8m ²
1x13m	(1+2)	10.8m	10.8m ²

Continuation

$$1 \times 4.5m (1+1.5) \times 1.5m = 13.5m^2$$

$$1 \times 6m (1+1.5) \times 1.5m = 12.0m^2$$

$$1 \times 6.5m (1+1.5) \times 1.5m = 14.25m^2$$

$$1 \times 10m (1+1.5) \times 1.5m = 10.0m^2$$

$$1 \times 8.7m (1+2.5) \times 1.5m = 22.89m^2$$

$$1 \times 16m (1+1.5) \times 1.5m = 17.2m^2$$

$$1 \times 20.2m (1+1.5) \times 1.5m = 39.3m^2$$

$$1 \times 10m (1+1.4) \times 1.5m = 8.4m^2$$

$$1 \times 20m (1+1.5) \times 1.5m = 17.5m^2$$

Total $878.36m^2$

Ch. day
13.10.2020

13.10.2020
AF

Continuation

ABSTRACT OF COST

C.H. 2243

Name of Work :- Restoration work
of road from Laj to
Bagnwakale near Barozi

Agency :- Departmental

① Providing & Supplying
including labour
for filling & making
Cement bags

4078 No. 147 M/s 12

4078 No. 32. 14/16 - 13167

Continuation

(2)	PY-544-18-11-13	6.75 m ³	10.00 m ³	all complete	3227.5 m ³ @ 17.58/m = 153.5
(3)	PY-544-18-11-13	7.75 m ³	10.00 m ³	all complete	752 m ³ @ 24.71/m = 18.5
(4)	PY-544-18-11-13	8.7836 m ³	17.1737 m ³	all complete	8.7836 m ³ @ 17.1737/m = 150.8459
					181.1682
	Add 12.1. GST	(+)	21740.25		
	Add 1-1. Laborers	(+)	18117.0		
	Add 3-10% grage fee	(+)	10492.0		
				Total	2.052.47
10.00	10.00				
20.2.2021	20.2.2021				
JK	JK				
JK	JK				